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Choose the correct sentence.

(A) He Sees he has made mistake. (B) He thinks that it will rain.
(C)Hehas done all that was necessary. '(D) He says thathe had decided to eat it.

Which one is the nearest meaning of the word ‘explain’ ?

(A) expand (B) describe

(C)teach : (©)simplify

Find out the correct spelling. ’
(A) stomuck (B) medicin

©) headach ; (D) severe

Arrahge the dialogue between two mosquitoes by selecting the appropriate order of sentences.
1. Don’t miss the chance. : |

> will not suck his blood.

3. This boy’s blood is very sweet; let’s attack.

4. Enjoy yourself, 1 have diabetes.

(A)4,2,3,1 (B)1,3,4,2

(C)2,4,3,1 (D)3,2, 1,4

Which sentence is not correct 34

(A)Jituis my elder brother. (B)Heis older than his sister.
(C)Manuiis my eldest son. (D) He is the eldest boy in the family.
[ Should c.oeueeessaeumsneeseses the post office today.

(A) go- (B) goingto

(C)togo (D) goto

Choose the antonym of the word ‘rapidly’.

(A)slow (B) fast

(C)quickly (D)slowly

Banks will not provide you 10N UNIESS YOU counssemmssesmssesesss” them your original identity.
(A) provide : (B)don’t provide

(C) provided (D)ywill provide
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Choose the synonym of the word “ancient’.

(A) very fast (B) very old
(C)angry (D) amazed
She has been playing the guitar .............ccceoeeeenee two hours.
(A)since (B) last

(C)yet (D) for

There SN0 ..o in the lamp.

(A)weak ; (B) wick

(C) week (D) wake
.............. eveeeee SWAI .....veceeee..... NEr homework regu]arly 2
(A) Do, do (B) Do, does
(C) Does, do (D) Does, does

Select the proper word for underlined word.
- The eagle can see very far. It has sharp eyes.

(A)big (B) powerful

(C) beautiful * (D)black
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(B) -uRsiys — -ufRisisie: - ol - dsui
(C) Al - 35ui > GAsU2d - GRAISL ;
(D) -tRisiBdg — 2ol » %{s%ﬁ - Gtz
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(112) AlA-umidl Sl dudla el s ?

(A) vieyERyy : (B) [Rsa
(C) 51uR ' (D) w3

(113)  DEuiell 541 A3 vis wild B ?
(A)LXII (B)LXXX
(CO)LC “(D)XLIV

(114) s w%mL st AL 48 2021 (215) B. cll S15uRL & 2031 92 J2at vigeil well o ? i p-
(A)7.5° (B)5.5° '
(C)3.5" % (D) 0.48°

(115) 0.7499 55 6 dvaiail 923  ?
(A)0.72:10.74 < (B) 0.749 241075
(€)0.75%10.79 - - (D) 0.74992 41, 0.75

(116) (256)*" xpseP®= .~ -

(A)4 (B) 16
(C) 64 : _ (D) 256.25
(117) APX)=x*-24/2x+1 é?LHcELP(Qf\/j_)= ....... s
(A)0 (B)1
©2 - . (D)8/2+1
(118) AABC=AFDE 4l AB =5 cm, m£B = 40° %A mZA = 80° dl {l3-1 U4l g WY D7
(A) DF =5 cm, m£F = 60° (B) DE =5 cm, mZE = 60°
(C) DF =5 cm, m£D = 40° (D) DF =5 cm, m£E = 60°
(119) s ada-{l Birdl 10 cm 8. 21t adamiel Rei WA R stuauni »ud dl ddq &s159
sequy? _ _ : .
(A) 10041341, (B)2004L.A.l.
(C)3004L.3.4. - (D)4001L.3.4]. _
(120) aRun-u As=s, B2 21 seus sizl a2 54 wsi2 vjeus{l s L % 61 ?
(A) 4258 : : B) SB4
(C) Aissial As . | : (D) you sl A
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(121)

(122)

(123)

(124)

(125)

(126)

(127)

(128)

42 x ll ATH ABUL A9 | U el Al ., (g ey waud]) dodl wa) ?

(A) 4x (B) 1
(C)4 ' (D)x

25 cm x 10 cm x 4 cm <il doet welldll Yoyl el &, dniell 23aR Fed well suuaryi 1 Al
Sl & 2ug Well MU uuai 0. #3953 & g wiell w3 AL 21 i H9
sl £leag] wiell s4AuA 20y . dl sdua 2een Mellfiz: wel H wil ?

(A)100ml (B)200 ml
(€)300ml - (D)400ml
5 vl 45 209, A 98l v GRRAE Hes 25 W B dl A BRI vy 56 il ?
(A)20 (B)25 :
(C) 50 (D) 60
AABC ML ZCBE »11 ZCAD %81 8. (A-B-E,B-A-D) CM 3 £C il Bouws 8,
FULA-M-BS A mLCAD=110° %3 mZCBE = 100° €14 dl ZMCB o uy Soq uiy ?
(A)30° (B) 100°
(C) 50° (D) 15°
1357l viell w1adi Fufid sgslen Jed) sl 6y ?
(A)6 (B)8
©)7 D)9
B /5625 =75 QUL \0.5625 + /5625 = oo
(A)82.5 (B)0.75
(C)8.25 : (D)7.75
A% (il eletrfl G-l araell x al 3. 3 a wedl Adiul ga G Yol udl?
(A)x+3 (B)3x+3
 (©)3ey . (D)x+9

[rewatnedl Gualay 59 Baud 2l 7 v PRt seuise w2 A2 U4 sl s dlell @
Yoy ¢y ?

(A) 4124 el Guallay 3 ol 531 : 297 x 303

(B) (2 + b)* = (a- b)*  AE3U 2u

(C) el GudlaL 531 (b - 7)% sl

(D) 4124 (el Guadlor 53 eusiz A0 : (6x+7) (6x - 7)
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(129)

(130)

(131

(132)

(133)

(134)

(135)

136)

YA [ ‘Y R se] 1) sy UL AU AgiRl 231 53 B 7 By e AA-niel] 56§
uald Aol awid Yoy .

(A) 234+ yg[y (B) [R2t3 ygly

(OFTIE] ‘{a[?t.' (D) 2qvyi+ ygly

oL v R0 99 ) ey Urll 24 004 vl el 5:6 6. el rit{l vy 555 99 ?
(A)25 (B)3s

(C) 45 | (D) 54 m-
Fell U wt1-fl 25 10 Gy adl ﬁléuloﬁ:ﬂqq Brydl s§uq ?

(A) 10, 15, 17 (B) 10, 35, 37

(C) 10, 24, 26 (D) 10,6, 8

A3 8000 M WHRATY. BAAXB. B3 CA345, g3 A 20% 8T 0. dl Ay
U4 54 Rt Wz o) ? '

(A) A 241 B a3l -i8] 30q3) (B) A % B 534 {165 6] Rnqs)

(C) A ¥ B $di ay -15) Anqq, (D) $6 18] us§ wsg ~12fl

Aa+b=132 ab=25 éllltﬁa2+b2'ﬂ[§‘-ld32€ﬂ!l§l?

(A)119 (B) 129

(C) 169 (D)219

4,6,7, 83 9 2iglll eed] 8 is] RIECTENEIER R S BURLSet 25l 2ileoui g9
512 Gulal 1l Glq) AN ;
(A) 98764467 (B) 98876467

(C) 99998764 o (D) 46789444

SUS Rt vyl dayq a3 54 QA vl ?

(A) €25 v Wi Wietell 2quq 0.

(B) 1 % €35 Avivil wqyq .

(C) &8 vl Maya 2wl vy Sl Ul ML A 61613 Y B
(D) £33 vl mayq § vaysd) 1% 2]

(A)8 = ®) 11
(©)4 | D)3
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(137)

(138)

(139)

A1 44 50 Rouoraid Py o], , ;

(A) % 45 2iva 31 2iveuell Rewsra Gl dl 3 vy wi siveey uclls sayasl] yo Royory
SlE a3,

(B) % 516 vl & AaReiory Aveye] [Aeuory €lu dl =it siaudlell ye Reyery €Iy,

(©) A 2l & 2vayt S dvyaf] Royiopy dudl AVl AR v A vyl Reyory by

(D) % 51 2Avat A5 Aqvayef] Roqory €l ol & Avie ygdl ) auuvu UeLs maqydlel] ye
[Qeuory iy,

ada 2 Ay 44 g A1y ] ?

(A) DU 21y 53l $Ra ] 5.

(B) Brosut 201 st 2134l $lu 9.

(O @aug My 39 Bioruii Hiy 5341 HE U .

(D) -t 3wsefl afen wz-y s5uR Big 42 i3 A Sl Y.

(A U4 54 R 1 & 7

(A) qA7l 2 é3sy el s vy Gy .

(B) olgets 1A ol vy GletRetl s44i s oi1g q+{l ey g AAEIS D,

(C) e o iRl 25 vy gy 1 g
- (D) 4R i sigeisef Yeu dau A u
(140) 100032 = |32
(A)10 (B) 100
©o.01 v et
(141) 4-Y?yeladl-l vy ioqs AL S 53] 1 ?
(A)-1 (B)1
©)4 ~ (D)-4
(142) 3469.4 3 3ouetei 2z 3] 3 coudl ?
(A)3.4694 x 10* (B)3.4694 x 107
(C)34.694 x 10° (D)3.4694 x 10°
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(A)216"
(C) 60°

(143) % Bina-t 100 Hidll 60 sl w2 W . 635 ol 1 42 €l dl Gulsd HRAA we wdui
safaal M2 Irs WAL veil 324l Auvidl usd ?

(B) 160°
(D)210°

(144) BusiR Bsmui Gl v sedl elu 8 ?

]

I Alcerinnnsner

I_L-. I-

(A)8 (B)9
(€6 (D) 12
(145) st Aot R &g Buve 487
(A) ASHYRA S, (B) e e 5 8.
(C) Audl538L 52 69. (D) WEl old 9.

(146) el aolvisni yot, Fun 3 Rgid udal sl 2ani 20d 217wl d- 2uaRd erval detald
sl 2. wi usill aafvis uBUL 56 AaRs ualaml AN 214 8 ? :

C(A)2e ugld _ (B) Ra ugld
(C) yussae uald (D) du2(lsze vald

(147) 5B Axdasil o 2emi udd Bg e A Ul g ud 8.

(A) (x,y) . (B) (-y,x)
©) (x.y) (D) (=x,-y)
(148) uvll {la AlUar 52 -l uls&lme[l 25 Uy WAl 20 1A NG uy sl €1y a-ll Aenan
secdlay ?
(OO 52 . ®% 52
©% (D) 50
(149) Bsiami Bt 51 a5 ougeil a3{ o1l 6 uzgrit A2l AU HUGR elq ol wedl ool AL
vl 1Y g elu ?
(A)45° (B)90°
(C) 135° (D) 180°
u O s o
(150) 37 -—3—= LT S &
(A)2 : (B)6
€9 ‘ (D)8
L X X
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